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QUESTION 1

Which situation would lead to loss of an etcd quorum in an OpenShift v4 cluster? 

A. The database used by all Cloud Pak for Integration components is corrupted 

B. OpenShift has lost all worker nodes 

C. The majority of master/control plane hosts are lost 

D. One of the master nodes has gone off line 

Correct Answer: A 

 

QUESTION 2

What is the correct order of dependencies in the DataPower Gateway services point of view as they are nested into
each other? 

Select and Place: 

Correct Answer:  
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QUESTION 3

An integration architect has the following requirements: 

1.

 Enable applications and services to communicate reliably without calling each other directly 

2.

 Introduce process independence into the application architecture 

3.

 Improve fault tolerance and reliability throughout the system. 

Which modern integration pattern should the Architect choose? 

A. API integration 

B. Event driven publish/subscribe 

C. Application data integration 

D. High speed file transfers 

Correct Answer: D 

 

QUESTION 4
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What is the minimum requirement for an HA deployment of the Cloud Pak for Integration Platform Navigator? 

A. 3 cores across 3 worker nodes 

B. cores across 2 worker nodes 

C. 1.5 cores across 3 worker nodes 

D. 1 core across 2 worker nodes 

Correct Answer: C 

 

QUESTION 5

What is the IBM App Connect Enterprise Toolkit? 

A. A high availability management tool 

B. A command-line interface for App Connect integration 

C. A web user interface for accessing integration server resources 

D. A graphical user interface for message flow development 

Correct Answer: A 
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